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1
Decision/action requested

The group is asked to discuss and for agreement.
2
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R3-225201 CR for TS38.423 NGAP Corrections related to Excess Packet Delay
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Rationale

RAN3 has decided to introduce M6 Delay Threshold in M6 Configuration to enable the calculation of the PDCP Excess Packet Delay in the UL. However, RAN2 has agreed that for UL PDCP Excess Packet Delay (related to section 4.3.1.2 in TS 38.314) different delay threshold values for different DRBs are to be used. These different delay threshold values need to be provided by the OAM for signalling-based and management-based MDT, RAN3 is discussing how to configure different delay threshold values to different DRB to meet RAN2’s requirements, which may depend on the OAM’s process on configuring thresholds. 
One solution to this problem is to enable multiple threshold parameters in M6 Delay Threshold IE. This solution means OAM can provide a range of threshold values, and gNB can leverage and use these thresholds for different DRB. It is important that OAM provide accurate information to RAN node.
For providing multiple Excess Packet Delay Thresholds, three solutions have been proposed by RAN3:

Solution1: OAM only provides a flag to control whether need start the UL PDCP Excess Packet Delay measurement. 

Solution 2: OAM provides multiple thresholds for UL PDCP Excess Packet Delay measurement. 

Solution 3: OAM provide threshold and the corresponding reference information.

Solution 1 is the most straight forward way for OAM, but may lead to lots of unnecessary measurements. 

Solution 2 gives OAM more ability to control, but gNB might not recognize the meaning of the threshold thus cannot transfer the true intension of OAM to the UE. 

Solution 3 suggests transferring both the threshold and the reference information to gNB, thus, gNB can fully understand the intention of OAM and know the threshold is for which kind of services.
SA5 considers the solution 3 as a reasonable solution. This solution provides what reference information should be used and can completely transfer the intention of OAM to the UE.
4
Detailed proposal

The group is asked to endorse Solution 3 above, as this solution can totally transfer the intention of OAM to UE. If endorsed Ericsson takes an action item to write CR on relevant SA5 TSs…..
The main issue to be solved is what reference information should be used. OAM transfers 5QI as the reference information for reflecting the relationship between thresholds and services. 
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